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51. Choose the correct option to fill in the blank space:

After the French Police had successfully used dogs, the German authorities t00 --------- of usip,
them.
(1) think

(2) are thinking
(3) thought
(4) will think

52.  Choose the correct option to fill in the blank space:

She 1s proud that she --------- (achieve) stardome.

41) has achieved
(2) achieve
(3) did achieve
(4) has achieves

53. Choose the correct Indirect form of the following Direct speech sentence:
He said, “Mohan, when is the next train?”

(1) He asked Mohan when the next train was.
(2) He asked when was the next train.

{3) He asked Mohan when was the next train.
(4) None of the above

54. Pick the correct option which transforms the following affirmative sentence to negative:

Where there 1s smoke there is fire.
(1) No fire, no smoke.

_€2) There is no smoke without fire.
(3) Smoke and fire go together.
(4) All of the above

55. Fillin the blank space using the correct article:

--------- English have managed to hold on to their traditions.

(1) A
(2) An

{3) Noarticle required
(4) The

[CG-22-BAH] 12 [Series -Al
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1 9 the C *
56- Choose otTeet sentence from (he tollowing:

(1) RC]ﬂy Chicﬂy Oon your own efforts
(2) Rely chiefly on your own efforts

(3) Realize chiefly on your gwn efforts
(4) Repeat chiefly on your own efforts
57, Choose the word which means the following:

One who comes as a settler into a foreign country

) Immigrant

(2) [Emigrant

(3) Both (1) & (2)
(4) None of the above

58. Choose the word which means the following:
Compulsory enlistment for military.

(1) Conscription
(2) Concealment
(3) Subscription
(4) None of the above

59.  Fill in the blank by choosing the correct option:

| © (- R — was gardening.

(1) vocation
(2) avocation
(3) vacation
vaccination
(4) choose the correct phrase to fill in the blank space:

wing options,
60. From the following 1nd gave US @ bed for the night when our car broke down.

The owner of the house ===

(1) took usin
_(2) took us off
(3) tookuson

(4) tookus for

Series —
3 . | A)
[CG-ZZ-BAH]
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61. Choose the correct option of the italicized word:

Answer the first question before you proceed furture.

(1) further
(2) farther

(3) fatter
(4) farthest
62. Fillin the blank with the correct form of verb:
The Sun -------_. duﬁng the day.
(1) shines
(2) will shining
(3) shined

(4) have been shining

63. Choose the correct active form of the sentence:
Priyanka was married to Robert.
(1) Robert married Priyanka.

(2) Priyanka is married to Robert.
«{3) Robert has been married Priyanka.
(4) Robert is going to marry Priyanka.

64. Choose the correct negative of the folluwing afﬁfmative senten
We tried every plan. '

ce:

(1) We left no plan untried.
(2) Every plan was not tried.
w43) Tred not any plan.
(4) No plan was tried well,
65. Fill in the blank with a suitabje article; -’

I have --------- breakfast at 8 O’ ¢]ock .
(1) an
(2) the
(3) No article required
4) 32
[CG-22-BAH] " 1a J‘
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66- Fill in the blanks with the correct optign:
-------- - YOU === Twas selecteq,
(1) Neither, cither
-..--(‘2) NCithl‘, nor
(3) Either, nor
(4) Neither, or
67. . Choose the correct synonym of the word:
“Talkative”
1) Garrulous
(2) Greedy
(3) Evil
(4) Shallow
68. Chbosc the word with incorrect prefix mis .
(1) mislike o
(2) misfire
(3) misjudge
(4) misunderstand
69. Fillin the blank with the correct option:
| ort his arguments.
He --------- many examples to SUpp
(1) sited
(2) cited
(3) sighted
_ site —
A4) iion for the ll“derlmed
70. Choose the correct opY
[ am your’s sincerely:
1) yours sincerely
(2) No improvement
(3) your's sincerely
(4) yours’ sincerely
e o

[Series —A]
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71.  Choose the correct option:

Rice is the --------- food of the Bengalis.
«1) principal
(2) principle
(3) princepal
(4) prrinceepal

e - ‘Hf?
72. Which of the following is not a synonym of the word* Attractive :

(1) Captivating
(2) Pretty

(3) Repulsive
(4) Appealing

73.  Synonym of the word “Bliss” is:

(1) Inadequate

(2) Happy
(3) Fierce
(4) Polite

74.  Fill in the blank with the correct option:

I --------- a play by Pinter.
1) am reading

(2) reading
(3) have reading
(4) had been read

75. Choose the word which means the following:
A remedy for all diseases.

(1) Insolvent
(2) Cure

(3 Panacea
(4) Physiology
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\ 76.
Beware of that fellow He ;

(1) Formidable S awolfin sheep
(2) Hypocrite
4£3) Completely ingape

(4) Agile

Change the followi
. \_ g - ollowing Exclamatory senten
Hbqv beautiful is the night!

(],)\\ The night appears 10 pe beautiful.

(2) \The night is very beautifu.

(3) B\eautiful 1S the night.

(4) DNight seems to be beautify].

78. The sentence has been broken up

into four parts. Choose the part which is grammatically and
meaningfully wrong:

(1) The worst incident
(2) 1involved a staff member
—+3) who went complete insane

(4) after about four days.

79. The sentence has been broken up into four parts. Choose the part which is grammatically and

meaningfully wrong:

(1) For the young and the motivated
(2) in our country is lot of
(3) opportunities and promises

(4) of meaningful start ups.
80. Fill in the blank choosing the correct tense form from the given options:

[ to call on you yesterday evening, but it rained.
(1) going

J2) was going
(3) were
(4) will be going

10622 3o, 17 [Series —A]
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m the given opti
Choose the correct Passive of the following sentence fro 4 Optiong.

81. Cabinet to state his views,

The Prime Minister invited each member of the

binet was stated by the Prime MiniSter*g.

| > Iy,

he Primﬁ Minister to state h]c’ . ,
S Viey,

(1) The views of each member of the C

(2) Each member of the Cabinet was invited by

(3) Views stated by the member of the Cabinet was invited by the Prime M Inister

(4) The Prime Minister was invited to state the views by the member of the

82. Choose the correct Active transformation of the given Passive:
There is no shop to be let.

(1) There is no shop to let.

)
(3) Let me have shops.

Let there be shops to let.

(4)~ Shops are there to be let.

83. Choose the correct Indirect form of the following Direct speech sentence:

“We had better go”, said she getting up.
L{1) She said getting up that they had better go.

(2) She said in a hurry to go.
(3) She said we must go better.
(4) She said getting up to go that it was better.

84. Choose the correct Indirect form of the following Direct speech sentence:
He said, “Oh! I agree!”

(1) He said understandingly that he agreed.
(2) He exclaimed oh that he agreed.
(3 He said exclaimingly he agree.
(4) He said excitedly he was agreed.
85. Change into Negative:

Well made movies always entertain,

_1) Well made movies do not entertajy.
(2) Unwell movies always entertaipn
(3) Well made movies always entertain -

(4) Well made movies never faj] ¢, entertain
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86- Fill in the blank with C(lrrﬂcl

He will remain ---____ l]rel]USiti[}“:
~home until he ;

(1) 1n 1€ 15 tested,

A2) at

(3) for

(4) by

(1) Truism

(2) Cliché
_—{J) Proverb

(4) AXxiom

g8. Choose the prefix that meaningfully completes the sentence:

It was rather ___fair that I alone was asked to report early for the meeting.

(1) af
(2 wn—
.(3) dis__

(4) in_—

hat meaningfully completes the sentence:
memory as he can vividly re

80  Choose the suffix t

It seems he has a very photograph___

collect all that happened.

1) __ly
| ~(2) __Ic
(3) .__able
(4) ___full o the sentence:

gfll“y co]‘ﬂplet

. eanin
9. Choose the option andey he most Jasting.

is t

]
—--
e
-'
—

Our first impression Of

(1) subjects
(2) project
(3) rejects ———

(4) objects 5
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undcrlined idiom/phrase:

01. Choose the option that best explains the

1'¢ ndvocd
The teacher always playcd (he devil S @ {vocale

(1) Favour the weak

(2) Present acountet argument

(3) Beonthe side of the administration

(4) Embarassed the female students

92. Choose the option that best explains the anderlined idiom/phrase:

To throw down the glove means.

(1) To accept defeat

(2) To reject an honour

(3) To resort to wrong tactics
(4) To give achallenge

93.  Pick the correct sentence from the options given:

(1) Nobody lives forever.

(2) Nobody lives for ever.

(3) Everyone lives forever.
(4) Nobody wants to live ever.

94, Transform the following sentence into Assertive:
Could you give me a hand with this?

(1) He asked me for my hand.
(2) He asked me to give him a hand

(3) He told me that Thad better give him a hand
(4) None of the above :

95. Pick the correct option to i) i, ki
dnkK:

When we were on holiday.

(y may money
(2) much
(3) afew
(4) some



- 96. Choose the antonym of the word “Complex” f :

(1) Composite rom the given options:
(2) Uncomplicateq
(3) Uncompoundeq
(4) Simple

97. Select the best option to fil) ip the blank:

y . '

(2) didn’t need to
(3) hadn’t gotto
(4) hadn’thaveto

98. Choose the correct Active transformation of the given Passive:

Notice was taken down.

(1) They took down the notice.
(2) Notice has been taken down.

(3) They will take the notice down.

(4) None of the above

99.  Select the right prefix for the word “usual™

(1) Anti
(2) Uni
(3) EX
(4) Un )
' 100. Select the right suffix for the word “Icort -
(1) ¢
(2) ¢
(3) __ful
(4) _able [Series —A]
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